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V=067(C+S+G)

V = Volume of concrete.

C = Volume of cement.

S = Volume of sand.
G = Volume of gravel.

Density cement = 1400 kg / m”.

v

Ratio Mixing: Cement : Sand : Gravel for example (1:2:4)

Oe c2Se e ] e Al A Adalad 35 Sl ALY ol gall S a0 Sl
£(1:2:4) o Al jall Aala (i calS 13y S5 1)
2 dall
V =0.67 (C+S§+G)
1 =0.67 (C+2C+4C)
1=0.67(7C)
C=0.213m3.
Weight of cement =0.213 X 1400 =298 kg.
Number of bags = (298 / 50) = 6 bags.
Volume of sand =2C =2 X 0.213 = 0.426 m?
Volume of gravel =4C =4 X 0.213 = 0.852 m3



s (gatal) dsaS il

C2Sa 51 0.001771=0.07%0.11X0.23 : 43 5all J& ulidll 3 soldall ans

=Se 5ia 0.0023=0.08X0.12X0.24 = 4 sall 223 (3 solkall 2z

48 5k 450= 0.0023 /1 = @2Se jia | B @ skl 22
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60=(0.21%0.21x0.41) 1 = =Se jia | 8Ll axe
42=(0.21x0.21X0.61) 1 = c=Sa yia ] (o8 (ysinma jill 22c

0 20 gl slan el & B ghse Ay ALl g Goldall 222 sl 16 JUa
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£(1:3) 4 5all Lali disi 5 (20 20%60)

: Jall
Solution:
1. Bricks:

Volume of fence=20x2x024=9.6 m3 .



No. of bricks =450 x 9.6 = 4320 bricks.
Volume of mortar = 0.23 x 9.6 =2.208 m?3 .
V =0.75 (C+S)
2.208 = 0.75(1+3) C
C=0.736 m3 .
Cement = 21 bags.
Sand =3C =2.21 m3

2. Blocks:

Volume of fence =20 x 2 x 0.20 = 8 m?3
No. of bricks = 60 x 8 = 480 blocks.
Volume of mortar = 0.12 x 8 = 0.96 m3
V =0.75 (C+S)

0.96 = 0.75(143) C

C=032m3.

Cement = 9 bags.

Sand=3C =1 m?3

3. Thermostone:
Volume of fence=20x 2 x 0.20 =8 m3
No. of bricks =42 x & = 336 thermos.

Volume of mortar =0.12 x 8 = 0.96 m?3
V =0.75 (C+S)



0.96 =0.75(1+3) C
C=0.32m3.
Cement = 9 bags.
Sand =3C=1m3 .
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Item Length (m) | Width Depth Quantity

(m) (m) (m?)

1(A-D) | (6-0.4)*3=16.8 0.3 0.4 2.016

2(A-D) | (6-0.4)*3=16.8 0.3 0.4 2.016

3(D-E) (5-0.4)=4.6 0.3 0.4 0.552

4(A-E) (6-0.4)3+(5- 0.3 0.4 2.568
0.4)=21.4
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0.4)=12.2
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0.4)=12.2
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0.4)=12.2

D(1-4) (5-0.4)+(8- 0.3 0.4 1.464
0.4)=12.2

E(3-4) (5-0.4)=4.6 0.3 0.4 0.552
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V =0.67 (C+5+Q)
13.6 = 0.67 (C+2C+4C)
13.6=0.67(7C)
C=2.9m3.
Weight of cement = 2.9 X 1400 = 4060 kg.
Number of bags = (4060 / 50) = 82 bags.
Volume of sand =2C =2 X 2.9=5.8 m3
Volume of gravel =4C =4 x 2.9=11.6 m3
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